
Step 1

Hardware identific ation

ATWORK Box/Box/File pedestal
Model# AW-50166N 800-558-1010

www.NBF.com

Z3

Z3

Z3

Z3

Z2

Z2

Z1

Z1

Step 2

Z1. Caster with lock
    - 2pcs 

Z2. Caster 
    - 2pcs

Z3. Screw 4*12mm
    - 16pcs

Z3. Screw 4*12mm
    - 5pcs

Z6. Caster
    - 1pc

Z3

Z1

Z3

Z3

Z6Z3

Z3

Z6

Z6. Caster- 1pc
      (AW-L-Caster)

Z1. Caster with lock- 2pcs
      (AW-Lock-Caster)

Z2. Caster- 2pcs
       (AW-Caster)

Z3. Screw 4*12mm- 21pcs
      (AW-PHRWBS 4*12mmB)

Z4. Handle 200mm(Pre-attached)
       - 3pcs(AW-Handle )

Z5. Bolt 4*25mm(Pre-attached)
      - 6pcs (AW-RFLAT 4*25mmS)

Z7. Sticker (Pre-attached) 
      - 6pcs (AW-ADHE-COVER2)

Z8. Plastic Hangers- 2pcs
(AW-Hanger)

Z9. Key-2pcs
      (AW-Key1)



Step 3

ATWORK Box/Box/File pedestal

I
sno i tc ur ts n

yl b
m es s

A AW-50166N

Need help? Call Toll Free 866-606-7888

800-558-1010
www.NBF.com

Z8. Plastic Hangers
  - 2pcs

Z8

Z8

Z9

Z9. Key
    - 2pcs


